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Chemistry 12
Electrochemistry Lesson #12
CORROSION OF METALS: CAUSE AND PREVENTION

|. CORROSION: A SPONTANEOUS REACTION

A. Process: _

Corrosion is simply the Q(\C\\O}\\)Q\v‘\ @’f A W\E?‘}’QQ\

Oxidation is the loss of _2l€chronS _, where a solid metal gives rise to
{)Cbl\\\}?./ ion and electrons.

For example, the corrosion of COPPER mvolves
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The most commonly known form of corrosion is the _ (" u%’hnc; @fﬂ o .
The two major agents responsible for " rushing, " are:
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B. Occurrence:

Physical strain on structures creates S)(Yﬁ‘_’;g DDWJYS which are more

easily _Oxidired  ~. (acts as the anode). The result is that _yu<d-

may form at points far from where the iron __1sSo\Wwe S [ v dubh,om\)

H,0 + /05 (g) + 2e -—-> 20H"

C. The Process is illustrated in the diagram below:
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D. Factors that determine the RATE of Corrosion:
Corrosion requires: ) and __ CXUURN Qoo
Corrosion is enhanced by: ‘;ﬁe \O\i‘f""" b
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Ill. THE PREVENTION OF CORROSION i [ i

A. Coating- e.g.: WS OONRNS, e WA CoNS

If oxygen cannot make contact with the metal, there will be no corrosion

\ g i : . .
B. Sacrificial coating e.g.:‘ OQV“VWL\V‘-B — Wfb%fo wothy, zine(S)
a coating of a more _{2Aacniy_ _  metal will protect a metal surface from
reaction, until all the coating has been destroyed
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Because the _Zin¢ __ half-reaction has a lower _ <. Vg lw'»:, it will
undergo oxidation instead of the__ \ign haif-reaction

_C. Cathodic Protection e.g.: S(/’\C/r&xuaﬁl -e/\ech\ﬂm .
A Sv\¢ ¢ Metals with a stronger oxidizing ability than iron will become the AoVe
and therefore, iron becomes the __ Ve,

HOMEWORK: Answer the questions below along with the PLO's : V1-V4
1. Use the diagram on the front to:

a. indicate the motion of electrons in the metal

b. Indicate where the water and oxygen molecules come in contact with the
electrons.

c. indicate the motion Fe2* and OH- ions in solution.

d. label the anode and cathode.

. For the diagram below identify:

. Which is the more active metal.

. Which metal looses electrons more easily.

. Draw the direction of the electrons traveling in the wire
. Label the anode and cathode ‘
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